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Question Number : 1 Question Id : 27028218476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The main objective of teaching at Higher Education Level 1s:

eS Do FE56° (BT i
Options :

To prepare students to pass examination

a,m'-'*fiaﬁ.-: :a&é &-ur?ﬁé 250 Fahdo
et

To develop the capacity to take decisions
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To e1ve new information
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To promote teacher-centred learning
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Question Number : 2 Question Id : 27028218477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The primary duty of the teacher 1s to
S cind (@oed 850



Options :

Raise the intellectual standard of the students.

- Doegie (Hep ﬂ”ﬁ]ﬁ&f‘)i& 2osrobodto

Improve the physical standard of the students.

- gjc;:cz_c]-(ﬂ,gﬂ-@ ef@é—m@ﬁ;m&?ﬁ; Aot lale)

Help all round development of the students.

_— Do SRS Erinteso

Inculcate value system in the students.

Dergtheoth Dendesd odEo
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Question Number : 3 Question Id : 27028218478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Generally the most effective approach dealing with the child's aggressive behaviouris

Deodtto Srbd HHED Q’AfiJéjn.,OdiJé e 8083 HRé:

]

Options :

to channel his/her aggression mto legitimate areas of competition.

| BD[0ED ErHth BHB55H DO S orBoBen Bahdo

to reward him/her for friendly behaviour and to ignore his’her aggressive behaviour.

eD/esd) SrH BHESD Ho )50t 508 (YN (Biemrseen sa%d



to give him due punishments, when he shows aggressive tendencies.
5B (RGN Babinth 88o0dto

3. %
to msist that he/she apologies for his undesirable behaviour.
4% w8 (HHBIH BHrsds 878500 wdndo

Question Number : 4 Question Id : 27028218479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the followmng statement is not correct with regard to lecture method in teaching?
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Options :

Develops reasoning

)8 adP555% Dosrobosto
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LImproves knowledge
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It 1s one way process

26 DEBY (H8cH

In this Method students are passive
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Question Number : 5 Question Id : 27028218480 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

"A diagram speaks more than 1000 words." The statement means that the teacher should

“e.8 Digo Jang Sreeod) EHRIG” @) FHBSSo FHsdo

Options :

use diagrams in teaching.

Bad ot i o afin A Wy
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speak more and more in the class.
| 3018 KOS Q¥ HréreeD.

use teaching aids in the class.

y S518 K680 SPESEigsmred ad@RRoTed

not speak too much in the class.
SB858E° B Eretptioeth

Sub-Section Number : 2
Sub-Section Id : 2702821355
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 27028218481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Which of the following is not a main task of research in modern society?

@HAE Diireod® HBEGF Brarodo 56 wb?

Options :

to keep pace with the advancement in knowledge.

8 HACH Eﬁﬂ%ﬁo@s Hwothotdo

to discover new things.
Ardrogronn Baftato

to write a critique on the earlier writings.

18 8300z Dhirds 58855 Saheo
3.¢

to systematically examine and critically analyse.

Bz 5888, DI0G)eH)E DEhes DabHeo.
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Question Number : 7 Question Id : 27028218482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
The research that applies the laws at the time of field study to draw more and more clear ideas
about the problem s:
Slron estfadios® S Homofoils someih Medorr Ho890EIE eSiEHs Adired
sdiango T2 H68%G téo:
Options :

Historical research

- TB(BE D85S



Action research

Experimental research

BErREE D08

Case study

F’}Dtﬁt’ia 568ed
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Question Number : 8 Question Id : 27028218483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

The experimental study is based on:

(BEPTEE egiichards Surergrdo

Options :

The manipulation of variables

v 36@5}@5& @BnE) shEr5H

Conceptual parameters

s wogren
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Replication of research
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Survey of literature

P
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Question Number : 9 Question Id : 27028218484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following sampling methods is not based on probability?

1Bob 57°0F° Hogrdedsh eHHBoSY HASEHS Diéé?_‘v 6 ?
s 5 c :
Options :

Simple Random Sampling
OBE alrthing H8IahHo

1. %
Stratified Sampling
HOES (H8Sahso
2.%  OF
Quota Sampling
v B%er (5@3ahs0
Systematic Sampling
185D (23&SchEo
4. % )

Question Number : 10 Question Id : 27028218485 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the following is the first step in starting the research process?

1Bob TS 5

Options :

Searching sources of tools.

58880 Hbore aegroresh S8 o03Eo

Survey of related literature

Somobd HBTHSe Jie ) ff:n\ Jcho

Identification of problem

T LAY o il
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Lo

Searching for solutions to the problem

t\JE:ﬁ.‘f\MB_r 'rlcu_ lz?:l_"c a_z G.Jlij&'\.d[_ﬁ:'

Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Is Section Default?:
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3
2702821356
No

null

Question Id : 27028218486 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed

Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval

to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (11 to 15)



Question Label : Comprehension

Sub questions

Question Number : 11 Question Id : 27028218487 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

How did home sewing help American women?
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ot

Options :

They became field analysts and researchers.

T HF HEFoen Hdcin HOEHDen e,

They went beyond economic boundaries.

T 88 VOFHoH ool Jeh
2. . .

They found good jobs.
5o 5008 &8hreH o

3_ A 2l L=

They became excellent teachers.
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Question Number : 12 Question Id : 27028218488 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No
Correct Marks : 2 Wrong Marks : 0
What improved the fit and efficiency of new garments?
S Seke s Hban SrEvo)) DS )SD W87
Options:

Sewing machines

| % L6308 abolEren

Econonusts

ebEaisen
L2

Mass production

g0 688

Paper patterns
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Question Number : 13 Question Id : 27028218489 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

What were the skills that were emphasized for young women?
cndhe B85 3°8) Baynd JHemgen B ?

Options :

Selt-confidence and self esteem
@é@ 83%‘:.’[5}60 s0bam @éé Riee]



Self-sufficiency and resourcefulness

ZRGD0 [DIND BN DDeNENS Kodgds
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Resourcefulness and self-confidence

DTS éoﬁaige‘:& 0BG wes) SEE;:K;D

P

Prudence and resourcetulness.

eRIErEE SHOAMn HIWNBN HoReE

Question Number : 14 Question Id : 27028218490 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Who became experts on the purchase and preservation of ready-to-wear clothing
for the family?

%Enon0 50 BB0D0kE Rtfore 79 tien F:ren $oai Stk Dmen Q5 wonTt?
Options:

Owners of department stores

1 % Garlbotn thevre dhairien

Field-study analysts

. B8 BF) ekaHd DFBen



Young women

And odeEen

Teachers of home economics
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Question Number : 15 Question Id : 27028218491 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
Who was the target group?

5% NS0 atn?

Options :

Young women

. Ginsd Sobr¥en

School children
5 % vkl DT BeD
Adolescent girls
3 ¢ P erdBen
Working women
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Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Is Section Default?:

4
2702821357
Yes

null

Question Number : 16 Question Id : 27028218492 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The following are the barriers to effective communication except one. Find it out.

& (Bob =B8° w58 S RsbEosghi Hirery &rb)i8 &0G fohen. o) SSol.

1.
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Bypassing
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Proper encoding

208 o

Frame of reference
@ 858

Physical distraction
g8 Sdgego
Psychological interference
HmiiR 550
Emotional interference
e Ol £7550
Cultural differences
F0:) )88 Poren
The right code is:
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Options :
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Question Number : 17 Question Id : 27028218493 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

A teacher should have good communication skills. He / she will be a good commumicator if
he /she

&8 1965 o) Hogras Femoid DR somd. o8 [ wdb a8 508 FRFSHET sokérds:
Options:

Asks questions about his / her classroom

e [ e S5K8 K B0l PHEe ethibsrt.

Helps students to score good marks / grades

Doesten nod a’nﬂiﬁ:]grﬁn,-’@%EJ 256 JHerD8 BB Es
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Helps students to ask relevant questions

. H020BE (HHOD ©EKErIE Dughed Efayerarth

Uses and provides mstructional material
S5 PEPRY SHREAGE, B @olTard



Question Number : 18 Question Id : 27028218494 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

In the question given below are two statements labelled as Assertion (A) and Reason (R).
In the context of two which one of the following is correct?

Botl sl 5 (25" Both (H8eden damon. (86 (A) HBdD 5860 (R) ©f) Hendatieron.

Assertion (A): Women are depicted in a negative way m the media.

PES (A) : hBAirs® SpErgesh Ha%reTS thS@e'f" 08860z,

Reason (R): Media has turned completely unetln{:'il i modern times.

80 (R): shboie athdE seod® Jrore egdore Srosfonod.
Options :

Both A and R are true. R 1s the correct explanation of A

A 5865 R Bodre D=0, Reds ﬂLciaé Q0N s

Both A and R are true. R 1s not the correct explanation of A

A 50Bcin R Botsr Desghidd), R e A Gy 585 Ddes soth

A 1s false. R 1s true

% ';_él:l:l':’ R{ua_

A1strue. Ris false
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Question Number : 19 Question Id : 27028218495 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No
Correct Marks : 2 Wrong Marks : 0

What is ‘Synchronous Media?”

20855 o8’ e0d HEd?

Options:

Printed media

1 % (®05 laie

Media providing information about the issues and events
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2. %

Live telecast

c\_-&é' % |n1_,t EJG

Media in digital enviromment

Question Number : 20 Question Id : 27028218496 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Mr. Ajay completed MA Economics. He is going to aftend an inferview. He dressed for the
occasion. This is an example of communication.

6 Descd do.o) o G Dt oD el soblrgd el s w8
}’E-Giﬁsgéséﬂﬁom e B0, b SNl 30 ) 2.8 S5
Options :
Verbal
i)
[

1. %

Non-verbal
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Emotional
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Psychological
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4. % T
Sub-Section Number : 5
Sub-Section Id : 2702821358
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 21 Question Id : 27028218497 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



The ratio to earnings expenditure of ‘A’ is 5:3 and that of ‘B” is 7:6. If the savings of
‘A’ 15 twice that of *B’ then what could be the ratio of total earnings of ‘A’ and ‘B’
together to the total expenditure of ‘A" and ‘B,

A TB0E) SIRON0 HSE0N0 D) 5:3 OO B' 7: 6 GOLNOA. A TBwE) SN
'B & BOCHTEY GOT), A s0O0N B IS0 ST0HO D) NS 06k @:5e08.

Options :

Question Number : 22 Question Id : 27028218498 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No
Correct Marks : 2 Wrong Marks : 0
Two trains running at 45kmph and 54 kmph cross each other i 12 seconds when they
run in opposite directions. When they run in same direction. a person in the faster
tramn observes that he crossed the other train in 32 seconds. The lengths of the two
trains are (in meters)
5005 45 ESed SHB05M 54 ESHY IS, S:BTE AIS S Bodk
B0, 285008 o8 TATEES Tenrdy 12 DD VD, @D 2.3 HIS Hchdo
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Options :

1% 54,45

, % 180,150

3. v 250. 80

Question Number : 23 Question Id : 27028218499 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

In a factory. for every five unskilled workers. there are two skilled workers. If 10

unskilled workers are dismissed and two skilled workers are taken. then the ratio of

skilled workers 1s half. How many skilled workers are there i the factory?

28 om0 198 DN BY00; B HATEE ad% oo STy

. BHLD0rBR 10 H0B JIATOR SOfod), 3D Iy@orie DD
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Options :
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Question Number : 24 Question Id : 27028218500 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The missing number in the sequence : 6. 14. 36. 98, 1s
00T SHoDS Hows: 6. 14, 36, 98,

Options:

1. % 196
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Question Number : 25 Question Id : 27028218501 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



BUTTER 1s coded as 123345 then the code for TUBE 1s

‘BUTTER® ‘123345 T 56 TSoH508. e@dpéy 'TUBE' 00 86

Options :

| % 1234

4 v 3214

Sub-Section Number : 6

Sub-Section Id :

2702821359

Question Shuffling Allowed : Yes

Is Section Default? :

null

Question Number : 26 Question Id : 27028218502 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Missing group of letters in the following

Bod |EsoS

o, . o L v
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BAZ: DBY, FCX,

Options :
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EFX

FEY
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Question Number : 27 Question Id : 27028218503 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
As ‘BDEG’ is related to ‘DFGI” so ‘HKMO' related to

‘BDEG’ & ‘DFGI’ & 020850 03¢, 08 S0 ‘HKMO® & H0230850
Options :
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, « JMOP

3. v JMOQ

INLP

Question Number : 28 Question Id : 27028218504 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which among the following statements is correct based on the following Venn
diagram

08 IS V0 SEEOT (DSVTOS HBID O

Options :

| % Some X'sarenot W. (£0) XenWen 572w

, Some Y'sarenot W. (SQ) Yo Wen 55 )

3 % X'sareY's. (XenYen).

4V Wsarenot Z. (W ex Z 0 5°C0 )

Question Number : 29 Question Id : 27028218505 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



The odd one among the following is

808 TS 3, 2.8 HOFO HopE
Options :

Rose ( Her) )

1. %

5 % Lotus ( @)

3  Orange (0°0023 )

4w Lilly (Se)

Question Number : 30 Question Id : 27028218506 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

’
.. There are three married couples m a family of three generations. A 1s grandson of H;

G 1s the mother i law of C; D and E are brothers. B 1s only nephew of E. Fis the
sister in law of D. B 1s the son of C. How is B related to G ?

P ST SE00206T, rch DaTired H0oLen daryow. A, H 03, 08sd; G
©9RE C BwE) ©; D OO E FSEen. B, E gy ; F, D Bng) S0 Boe
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Note: The questions Q. 31 to Q. 35 are based on the following information:
Ha0E: (38160 Q.31 b0 Q.35 508, 808 JArirdo SO &) o,

The performance of 5 batsmen A, B, C, D and E playing for a team in a cricket series
of five 20-20 matches is presented in the following pie charts. The first pie chart indicates the
distribution of total runs scored by the team in the five matches and the second pie chart
indicates the distribution of total runs scored by each batsman in the entire series. Assume
each batsmen played in each match and the sum of individual scores of batsmen constitutes
90% of the total runs scored by the team in each match.
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The percentage of runs scored by the batsman E m the five matches scored by the

team 1s

28 atp 0iH FrsSos® TAH HDHOS, e ED G0 H8He Féo
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The percentage of runs scored by batsman E in the runs scored by batsman C is

2263728 € TS HDHOE, 27665 ) 57 E TS HBier 7ebo

Options:

1. % 10
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By what percent C scored runs more than that of D?

23°2€3 ) TS D $0T) C DE0LT Do) 0i0e) 3°¢h0 J0eh ?
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1. % 10
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In the runs scored by the team in all matches, the batsmen scored less than 26 % runs
are
) Frsos’ 26 .5 T H&HOS, 26 TS0 Lo b H&en

Options:

Aand B
1 % AoNOA B

A.Band D

, » A.B 08a» D

A Dand E
A.D DA E
3

A B . Dand E
4 x A.B.D0OAW E
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In the total runs scored by the team. the percentage of runs scored by B and C
together 1s

260 &%).5 T s HOHOS, B B0 CEOD T Hke Te0
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1% 2177
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Which device i1s required for the Internet connection?
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Junk e-mail is also called
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Options :

spam
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Which of the following is not a protocol used for infernet communication

2066385 Harmred® 180d 7ASE° & (s aeisn.

Options :

TCP/TP
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Which of the following files can be opened m browser without any plugins

o b aden Bore (F'abs® Bod 8S° 5 o BBHKOEN.
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mdex.doc
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1. #
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ICT in governance will not aim at

gbe ICT @wE) efo 56575

Options :

E-government : the application of IT for mtra-govermmental operations

(Government to government or G2G)

B5-(28h&0 : @088 (H8DHE (BEabeh IT srito
( (3800 ood (224he0 8o G2G)

E-service : the application of IT to transform the delivery of public services
(Government to Citizens or G2C)
B-nden: [P naei) 38)Er8  IT ar&8o

5 % ( (53080 00 e dor G20)



E-business : the application of IT to operations performed by government i the manner

of G2B transactions (e.g. procurement)

B-are30 : (0400 o G2B S8 5)5&{)?:}“0“&?@6 PEhe30 S0erOB
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Laterite soil contains more of
o385 HE 1 JENST Goérow.
Options:

Iron and Alumimmm

Baan, eeriibddho
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Manganese and Silicates

Hrond, wé’_}qey

Potassium and lead
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Match the following:

Bob @) e3e855)e5m.

1. World Environmental Day a. Febmary.2nd
(35508 Hogddes BIo (2330, 2
2 World Ozone day b.  Apnl 22nd
in::n::U:j c\_-’l:SSEJ 250 gj‘{g}ﬁi_ 22
3. World Wetlands day c. June, 5th
1&0,0\.-51 méfﬁ __rlll." e B30 E;}J‘-'E 5
4, Earth day d.  September. 16th
$58(8 Bdo 000 16
Options :
: 1-b. 2-d. 3-a. 4-¢
5 % 1-d, 2-c, 3-b, 4-a

3 ¥ 1-c. 2-d. 3-a. 4-b



1-b. 2-c. 3-d. 4-a

L
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Eco-labelling of Commerical Products 1s regulated by
aredesg eefyBen) HoegHdes swldin ab Jabol@ob.
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Options :

1. ISO 14020

ISO 14010
e

3 % ISO 14030

4 » 18014040
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The EL Nino disappears in March and re-appears in
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Match the following:
£ (Bob 7HR) eefitihaim,
List -1
(D58 - 1)
=]
Il CHC

2. Co,. Methane

BOD & COD

L]
.

4. MIC

Options :

| % 1-b. 2-c. 3-e. 4-a

5 % l-c, 2-b. 3-a. 4-d

3 % 1-d. 2-b. 3-c. 4-e
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The mode of educational transaction i ancient system of Gurukul education used to be
Do sreos Hdkerod Do (BB Bob wory TR SRR
Options :

Vocational based
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Values based
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Skalls based
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According to Radhakrishnan Commnussion, which of the following s not the aim of Higher Education?
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Options :

To develop the democratic values. peace and harmony

Heearene Denden, rofarndared DosrohodSdo
= o fadl )

To develop great personalities who can give their contributions in various fields
DG Borred® ordodie IRy tiﬁ'a”;‘,&{éﬁéo

To develop vocational skills and traditional crafts

3 v DB By, FPoEErad J8HFHeD 0dHj Jchdo

To develop reasoning and critical thinking
8, DHGTHE Ha HoerdodsEo

Question Number : 48 Question Id : 27028218525 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
Foundation training to the newly recruited IAS (Probationers) is imparted by:
SrE50rT DOVBS DD (FPBVS0 egfitoo 856 =) Ny

Options :

Indian Institute of Public Administration
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Administrative Staff College of India
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L.B.S. National Academy of Administration

e 4 = i By af TN -
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Centre for Advanced Studies

4 % ol eidhore Solio
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The full form of NAAC 1s
NAAC Eﬂl]ég_ B Brdo

Options :

National Assessment Accreditation Council
- 556 DDD0E w0k EBEEAS

National Assessment and Accreditation Chamber
- I5HE DDFots w0k JEEEAS Joxb

National Assessment and Adjudication Council

3 % S0S JPDD0ES ©ob EW~EEAS TS

National Accession and Accreditation Council
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Which of the following fype of universities cannot award deg:rees
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None of the above
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‘The red color of oxyhaemoglobin is mainly due to the
Options :

1 % d-d transition

5 % metal to ligand charge transfer transition

3 % ligand to metal charge transfer transition

v . & v om
intra ligand [T -IT transition
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Designate the following complexes X. Y and Z as inert or labile

X=[Al(C204)s]* Y= [V(H0)]*" Z=[Cr(Cy04)s]*
Options :

_— X 15 mert. Y and Z are labile

2 X 15 labile. Y and Z are mnert

3 % 3. Y are mnert. Z 1s labile



4 % XandZ are labile. Y is inert
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Both NaCl and KCI crystallize with the FCC structure. However, the X-ray powder diffraction
pattern corresponds to the FCC structure whereas that of KCI corresponds to simple cubic
structure. This 1s because

Options:

K™ and C1 are isoelectronic

5 % Na and CT are isoelectronic

K™ and CI are disordered in the erystal lattice

4 % KClhas anti-site defects
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Consider the following statements. I and IT:
Statement I: The sizes of Zr and Hf are similar.
Statement II: Size of Hf is affected by lanthanide contraction.

Options :

Statement I and IT are correct and II 15 correct explanation of L.

> w Statement I and II are correct and I is not a correct explanation of I.

3 % Statement I 1s correct and II 1s incorrect

4 % Statements I and II both are incorrect.
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The normal spinel among the following mixed metal-oxides is

Options :

CoFei(0y
o

5 % NiFe:04

3 % CuFe204

4V ZnFeaOy
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Consider the following statements. I and II:

Statement I: [Rh(CO)212] catalytically converts CH3I and CO to CH3COL
Statement II: [Rh(CO)2I2] 1s diamagnetic in nature.

The correct from the following 1s

Options :

1 % I and II are correct and 1T is an explanation of I.

5 I and IT are correct and II is not an explanation of L.

3 % liscorrect and IT 1s incorrect

4w landII both are incorrect
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Consider the following statements. I and IT:

Statement I. U(VI) 1s more stable than Nd(VI).
Statement II. The valence electrons 1n U are in 5f. 6d and 7s orbatals.

Options :

| % Statement I and II are correct and II 1s correct explanation of I

5 o Statement I and IT are correct but statement II 1s not an explanation for statement I

3. % Statements Iis correct and statement II 1s incorrect

4. % Statements I and II both are incorrect
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Under physiological condition. oxygen 1s binding to deoxy-hemoglobin and deoxy-myoglobin,
the binding curve and its pH dependence respectively are

Options :

- sigmoidal & amyp: pH dependent: hyperbolic and pH independent

5 % hyperbolic and pH independent: sigmoidal &amp: pH dependent

3 % sigmoidal & amp: pH independent: hyperbolic and pH dependent



hyperbolic and pH independent:; sigmoidal & amp: pH dependent
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Match the following complexes with their vco stretching frequency-

Complex vCo Lcm'l] values
(a) Mo(PF3)3(CO);3 (i)  1835.1934
(b) Mo{P(OMe)s}3(CO)3 (i) 1888, 1977
(¢) Mo(PPhs)3(CO); (i)  2055. 2000
(d) Mo(pyridine)3(CO)s (iv) 1746, 1888

The correct match 1s-

Options:

a-1; b-1v; c-11; d-11

2 a-1i1; b-11; c-1; d-1v

3. % a-iv: b-iil: c-i: d-ii

a-1: b-11; e-11: d-1v
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Reaction of Fe(CO)s with OH ™ leads to complex A which on oxidation with MnO, gives B.
Compounds A and B respectively are

Options:

1.« [HFe(CO)4]" and Fe3(CO)12
, s« [Fe(CO)s (OH)T and Fex(CO) 5

[Fe(CO) 4] and Mn2(CO) 10
3. %

[HFe(CO)4] ~ and Fex O 3
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The sequence of three steps involved in the following conversion is

»
®

e

Options:

_— (1) Friedel-Crafts alkylation: (1) Reduction: (111) Friedel-Crafts acylation

> (1) Friedel-Crafts acylation: (11) Friedel-Crafts alkylation: (111) Reduction



3 % (1) Friedel-Crafts acylation; (1) Reduction; (111) Friedel-Crafts alkylation

4 % (1) Friedel-Crafts alkylation: (11) Friedel-Crafts acylation: (111} Reduction
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A Suitable catalyst for bringing out the transformation given below 1s

OO0+ 5 — X

Options:
1. ¢ BFi3. EtzO

NaOEt

tungsten lamp

“ dibenzoyl peroxide
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Acetophenone can be converted to phenol by reaction with
Options:

" m-CPBA followed by base catalyzed hydrolysis

Cone. HNO;
e

“ iodine and NaOH

4 % Singlet oxygen followed by base catalyzed hydrolysis
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Reaction of cyclohexyl benzyl ether with hydrogen in the presence of 10% Pd/C yields
Options:

1@ cyclohexanol and toluene

5 % cyclohexanol and benzyl alcohol



w cyclohexane and benzyl alcohol

. cyclohexane and toluene
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The reagent suitable for effecting the following Transformation is

———
,”\[C_I],/‘ ,/\rl,,f'
Options :
CH:N:

1. %

CH; Li

(CH:)-CulLi

4. Ph-P = CH:
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In the Cannizzaro reaction given below:

NaOH
HCHO+HCHO » CH,OH+HCOONa

The slowest step 1s:
Options:

| % The attack of OH" at carbonyl group

> The transfer of hydride 1on to the carbonyl group

. Deprotonation of -COOH group

. The deprotonation of -CH,OH group
4, *® B
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The decreasing order of nucleophilicity for the following anions is
CH3COO . CH3O . CgHsO" . NO3x

Options:
CH3;COO™> CH3:0> CgHs0™> NOs

2 % CH30> NO3>=CsHs0™> CH3;COO"



3 CH30=> CgHsO™> CH3CO0O=NO7

4 % CsHs0 = CH30O>= NO3=CH3COO"
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What is the correct order of Apayx for n —> ¢* transition?

Options :

R-OH = R-NH>> R-SH

1. %

2 R-OH < R-NH>< R-SH

5 % R-OH>R-SH>R-NH;

- R-OH < R-5H < R-NH;
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Correct Marks : 2 Wrong Marks : 0
In which state of matter mass spectroscopy 1s being performed?
Options:

1 % solid

5 % liquid

gascous

plasma
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A compound of molecular formula CgH7C1O shows a prominent band m its IR spectrum at
1690 em™. 'H NMR spectrum revealed only two major types of protons in the ratio of 5: 2,
Which one of the following structures best fits the above data?

Options :

N —CHCOoQ

Cl@(‘() CH;



CO—CH . CI

CH—CHO
Cl
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Why in the IR spectrum of Benzoyl chloride. a weak band near 1750 em™ is formed?
Options:

_— Inductive effect
Fermu resonance between C = O band and first overtone

Conjugation effect

4 % Hyperconjugation effect
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Cis- and trans- 1somers are detected by

Options :

1. % Lucas test

Kurnakov’s test

3 % Mulliken test

Ring test
% g
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Write the multiplicity of the signals in CH3CH>OCH2CH3 in NMR spectrum
Options :

two triplets

a triplet and a quartet



two singlets
" g

two singlets and two triplets

Question Number : 74 Question Id : 27028218551 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The relation between A and B 1s:

Options:

Homomers (indentical)

2 ® Enantiomers

Diastereomers
3.¢

Conformers
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Mec Lafferty rearrangement ion peak in mass spectrum 1s usually the basic peak for

Options :

aldehydes only

ketones only

acids (straight chain) only
3. %

aldehydes. ketones and acids ( straight chain)
4. &
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For the following Electrocyclic reaction. choose the  system mvolved and rotation of p-orbitals,

Options :

47, Con-rotation
1. %



4. Dis-rotation

2. %

6w, Con-rotation
3 %

6m, Dis-rotation
4, &
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Final product of the following reaction will be

O

H*/ A

Options:

OH
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Which of the following 1s correct about the following compound?

[

o~ Y~ o



Options :

It possesses a centre of symmetry

5 % It possesses a C 4 axis of symmetry

It possesses a plane of symmetry
3. %

4 % Compound is chiral
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Following compounds are different in respect of

_O._ ,OH _n, _O_ (OH
HO” S < W s, W

OH OH
Options :
Their chemical and physical properties

1. %

9 % Diastereomers



3 ¥ The direction in which they tend to rotate the plane polanized light

Their interactions with molecules
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How are the following compounds related?

H:C Br _ CH,

X D

H Br H CH;
Options :

Diastereomers
1.4

> % Enantiomers

3 % Meso compounds

4 % Identical
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The major product formed in the following reaction is

M
OH

AN ]

TsOH
—
OH

e

Options :

3. %

4, #



Me

.-rr:;“-",

et () H

Me
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The total no. of products formed and the relation between ki and k in the following reactions are

CH, CH,

E J NaOEt _ = ( NaOEt 5
k, . k, -
" - cl

gy
2 7N
Options :

2. k= ko

Lkirk

2. ki<ks



3.k>=k
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Mark the major product formed m the reaction given below.

Br

NaH "

Options :
HO
1. %
&f’h‘
2. % ?

/\/ fﬂr‘“
iy L

HO
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The major products A and B in the following reaction sequence are

(1) PhNCO H2, Raney Ni
Eg;N MeOH, H,0
> A : = B

(ii}//\v AcOH

NO,
S g T

Options :

/
4
o
-lrlII_D_
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The following transformation proceeds through two consecutive electrocyclic processes, which
are

Av\\\
heat
e

N
Y N\

Options :

47 con and 67 con
1. %

47 dis and 67 con
2. %



47 con and 6x dis
\_‘._‘/,?

41 dis and 67 dis
4. %
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0
e Q heat " hv "
. —_— - E—
<./ * F ““ph

Options :
™\
s / X
Y - A e




N <=

§ A = Jﬂ\:;} B .f«_f/f/ \'w’f

4, =
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Compound which 1s least reactive towards L1iAlH4

Options :

...:::: =

.'3.—;:.
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Selected bond angles for six hydrocarbons are shown below. Arrange these hydrocarbons
according to their pKa values, from the lowest to the highest

1179
,—~109.5° :
2 ) ¥ '
_c—H - H ot
..- 9 o % U ")
(N (I | >c )15 (111) |
P H = C
H H
128°
S
( H
(7
C
& B 180°
]
A Y ey P N
(v) [~ (;‘ (V) H—C=C—H (VD) || > ) 120°
A - B
H i
- .-J
1089
Options :

. VI«II<III<IV<V<]

13

i V<IV<VI<«III<II<]

2.



- I<II<III<VI<IV<V

4w [<V<IV<III<II<VI
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Which of the following 1s the correct order of basic nature?

® [(DCY @[(H[()] & ST
Options:
1, % Q>R>P
5 ¢ RZQ>P
R>P>Q
3. %
Q=P>R
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In H-NMR. how many spectral lines will that bolded hydrogen be split into?

Options :

8lines (multiplet)
1.4

4 lines (dd)
2 %®

6 lines (multiplet)
3 %

4 lines (qt)
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In a saturated calomel electrode. the saturation 1s with respect to

Options :

HgxCla

KCL

HegClh

Ae(Cl
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When 100 g of water 1s reversibly heated from 50°C to 75°C at 1 atm. the change in entropy
(JK1) of the universe is:

Options :

—0.31

1. #



3.1
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The conductance at infinite dilution follows the order
Options:

-+ +o, TrE
1 % Li'™>Na'= K

Na™Li™> K™

K*> Li*> Na+

4 v K>Na>Lit
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The correct order of the fundamental vibrational frequencies of the following diatomic
molecules 1s:

Options:



1171351 =11737 01 =D e
1 H>2CI =" HYCl >l

, x DPCI>'H'CI>HYCI

3 % H'CI>'HPC1>'DCl

'HY¥CI>’D¥C1 >'H*Cl
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An ideal gas 1s composed of particles of mass M in thermal equilibrium at a temperature T 1n one
contamer. Another container contains ideal gas particles of mass 2M at a temperature 2T,

The correct statement about the two gases 1s-

Options :

Average kinetic energy and average speed will be same in the two cases
1. %

Both the averages will be doubled mn the second case

Only the average kinetic energy will be doubled in the second case

Only the average speed will be doubled in the second case
4, %
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Match the metal given in Column A with its medicinal use as a compound 1n Column B.

Column A Column B

(a) Gd (1) Cancer

(b) Au (2) Maniac depression
(c) Pt (3) MRI contrast agent
(d) L1 (4) Arthritis

(5)

Correct mateh 15

Options :

_— a-2 b-3 c-4 d-1

5 % a-4 b-2 c-1 d-3

3 @ a-3 b-4 c-1 d-2
a-1 b-2 c-3 d-4

4. %
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The point group obtained by adding symmetry operation oh to the point group C4 15
Options :

1% S4

Can

3, % D

4 % D¢
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The correct match for the following 1s

List-I List-II
(a) camphor (1) structural
protein
(b) msulin (2) hormone
(¢c) Keratin (3) enzyme
(4) steroid
(5) terpene
Codes:
Options:

a-1. b3 &5
%



a-5 b-2 e-1

a-5 b-2 c-4
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The 10nic strength of a solution containing 0.0008 M AICl3 and 0.005 M KCl 1s
Options :

0.134 M
E

, o 0053M

0.106 M

4 % 0086M
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A constant motion of hydrogen atom in the presence of spin-orbit coupling 1s-

Options :
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The minimum work required by an engine to transfer 5 J of heat from a reservoir at 100 K to
one at 300 K 1s:

Options :



4 % 207
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For a certain magnetic field strength. a free proton spin transition occurs at 700 MHz. Keeping

the magnetic field strength constant the N nucleus will resonate at. (g(p)=5.6 and g(**N)=0.4)

Options :

700 MHz

400 MHz

200 MHz

50 MHz
4.«
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The stability of lyophobic colloids 1s a consequence of the:
Options :

1@ electrical double layer at the surface of the particles

, x van der Waals force between the particles

small particle size

4 % shape of the particles
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The molecule that will show Raman spectrum, but not IR spectrum. among the following 1s:
Options :

H
1.4 7

, x HCI

3 » BrCl

4 % €92
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The term symbol for the ground state of a metal ion is *Py. The residual entropy of a crystal of
a salt of this metal 1on at 0 K 15

Options:

keln 1

1. %

kgln 3

3 o l'LBlI:l.:-"

kgln 7
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The separation of the (123) planes of an orthorhombie unit cell 1s 3.12 nm.
The separation of (246) and (369) planes are, respectively,

Options :



1.56 nm and 1.04 nm
w

1.04 nm and 1.56 nm

3.12 nm and 1.50 om

1.04 nm and 3.12 nom
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The change n entropy for a reversible adiabatic process 1s-
Options:

Maxunum

Minimum

Zero

Pasitive
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Origin of the colligative properties of a dilute solution 1s-

Options :

o volatility of solute molecule

mnteraction of solute-solvent molecules

5 % ZEI0 enthalpy of mixing

entropy of mixing
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The number of lines m EPR spectrum of CD3 (Ip=1) is-

Options :
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Root mean square speed of the molecules of a perfect gas 1s proportional to-
Options:
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Arrange the following molecules in order of increasing fundamental vibrational frequencies:

Options :
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The translational partition function for Ar confined to a volume of 1 L at 300 K. having thermal
wavelength of 1.60 x 10 m, is closest to

Options :

A4 A -1n2e
_— 24.4 x10
5 4 2.44x 10%
0.244 x 105



244 x 10%
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Entropy of a perfect gas is-

Options:

Independent of V
E

Proportional to V
e

3 @ Proportional to In V

4 % Proportional to V?
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The formation constant of the complexation of M™ (M = Li. Na. K and Cs) with cryptand. €222
follows the order-

Options:



1« Li'< Cs*<Na'<K"

Li*< Na*<K*< Cs*

2. %
L » K<CS<LieNg
4 % CS<K'<Li"<Na'
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The degeneracy of an excited state of a particle in 3-dimensional cubic box with energy 3 times
its ground state energy 1s-

Options :

1.4 3

[ ]

4. %

Question Number : 116 Question Id : 27028218593 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No
Correct Marks : 2 Wrong Marks : 0

The numbers of lines shown by the BH3 part of the molecule PhsP.'BH; in the'H and !'B

NMR spectra are. respectively [I("'B)=3/2: I(*'P)=112]

Options:

1. § and 8

4 and 8

3and 6

4 % 6 and 3

Question Number : 117 Question Id : 27028218594 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

In human body cis-platin hydrolyzes to a diaqua complex and modifies the DNA structure by

binding to-

Options :

N-atom of guanine base



5 % O-atom of cytosine base

N-atom of adenine base

O-atom of thymine base
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Heating a sample of [[:115-C sHs)Mo(CO)s]; results in the formation of [(“-5-{;‘51{3]3&-'{0((‘0] 2|2 with
elimination of 2 equivalents of CO. The Mo-Mo bond order in this reaction changes from-

Options :

2103

5 % ltol

3 lto3

4. % 2to4
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For [Ce(NO3)4(OPPhs)2]. from the following

(a) Its aqueous solution is yellow-orange in colour
(b) Coordination number of Ce 1s ten

(c) It shows metal to ligand charge transfer

(d) It 1s diamagnetic 1n nature

The correct answer 1s

Options :

1% (a) and (b)

5> % (a) and (c)

3. ¢ (a), (b) and (d)

4 % (b). (¢) and (d)
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The geometry of [ReHo]” is-
Options :

Monocapped square antiprism



5 % Monocapped cube

3 ¢ Tricappedtrigonal prism

4 % Heptagonal bipyramid

Question Number : 121 Question Id : 27028218598 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The spectroscopic ground state term symbols for the octahedral aqua complexes of Mn(IT), Cx(ITI)
and Cu(II) respectively, are

Options :

’H. *F and D

5S.*F and 1D

’H. H and D

5 4Fand P
4. %
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Addition of two electrons to the bismuth cluster Bis®* results in a change of structure type from:

Options :

Closo to mido

Nido to arachno

Closo to arachno

Arachno to hypo
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The number of bonding molecular orbitals and the number of available skeletal electrons in
T .
[BsHs] ", respectively. are:

Options:

7 and 14
g

6and 12



18 and 12

4 % lland14

Question Number : 124 Question Id : 27028218601 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

(R3Ge)2 on photolysis gives a radical which shows ESR spectrum. The ESR signals carrying the
signature of “Ge ([=9/2) are n terms of:

Options :

1 % Nine lines

Ten lines

Two lines

One line
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To determine the bond parameters at 25°C. electron diffraction 1s generally unsuitable for both.
Options :

O3 and NO»
#®

5 & Sulfur and dry 1ce

3 % NO; and sulphur

O3 and dry 1ce
4. ®
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Among the following. species 1solabal to CH2 are:
(1) CpCr(CO);
(2) CpCu
(3) Ni(CO)
(4) Cr(CO)

(5) Fe(CO)
Options :
1.3and 5
1. %
2.3and 4

2. %



3 g
3 ¢ 2.3 and

1.2and 4
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According to Bent’s rule, for P-block elements, the correct combination of geometry around the
central atom and position of more electronegative substituent is:

Options :

- Trigonalbipyramidal and axial

Trigonalbipyramidal and equatorial
2. %

3 % Square pyramidal and axial

4 % Square pyramidal and basal
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In fission of Z°U atom the energy released is 200 MeV. In one day fission of 1 Kg #7U will
give power (in MW) approximately-

Options :

Ln

50

5 % 650

1250
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Match fluorescence colours given in column A with lanthanide 1ons given in column B-

Column A Column B
(1)  Pmk (a) Sm(IIT)
(11) Red (b) Th(III)
(1)  Green (¢) Eu(II)
(iv)  Blue (d) Tm(TIT)

Correct match 1s-

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :



@) -@a) ({)-() G)-0) @) -

O G)-© G)-0) @)-@)

B-@ G-0) G- @)-d)

(D-(c) ()-(b) (u)-(d) ()-(a)
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The correct order of C-O bond length 1s

Options :
H3B-CO > [Mn(CO)s]™ [Cr(CO)s] = [V(CO)s]

1. %

, o [V(CO)]> [Cx(CO)] > [Mn(CO)] "> HiB-CO

5 x [Mn(CO)J"> H3B-CO > [V(CO)6]™> [Cr(CO)q]

4 % [Cr(CO)] > [V(CO)]> H3B-CO > [Mn(CO)e]"
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The correct order of acceptor ability of the phosphorus ligands 1s

Options :

o PMes> PPhs> P(OPh)3> PF3

5 PF3> P(OPh)3> PPhs> PMe3

PF3> PMe3 > PPha= P(OPh)3
3 ®

P(OPhL);> PF3> PMe3 > PPh;
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The standard reduction potentials in acid medium for Fo. Clh. Na and Zn are i the order
Options :

Fo> Clhh>Na>7Zn

’I_bé



5 F:>Clh>Zn>Na

3 % Na=Zn>Ch>=F

4 % Cla=Fy>Zn>Na
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Match the items given in Column I with those given in Column II-

Column I Column II
(a) Magic number (1) Nuclear fission
(b) Liquid drop model of nucleus (1)  Q-value
(¢) Actinides (111)  Radioactivity
(d) Threshold energy (1v)  Shell model of nucleus

The correct match 1s
Options:

a-1v: b-1; c-111; d-11

1.4

a-11; b-1; c-11: d-1v

a-u1; b-1v; c-1; d-u

a-1v: b-111; c-1; d-11
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For the reaction of trans-[X(CO)(PPh3)2] (X =F. CL. Br. I) with Oy, correct order of variation
of rate with X 1s:

Options :
1 % Br>1>F>Cl
F>Cl>Br>1

F=Cl=Br=I

I>Br>CI>F
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The order of increasing Bronsted acidity for boron hydrides 1s-
Options :

v BsHo< BsHip< B1oHi4



BioHis < BsHo < BsHio

3 % BsHio< BioHi4 < BsHo

4 % BicHi4< BsHio< BsHo
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Deoxy-hemocyanin is
Options:

heme protein and paramagnetic

colorless and diamagnetic

2 O3 transporter and paramagnetic
" £

4 % blue colored and diamagnetic
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The oxidizing power of [CrOs]*. [MnOs]* and [FeO:]* follows the order

Options :

_— [CrO4]< [MnO4]*< [FeO4]*

[FeOs]*< [MnO4]*< [CrO4]*

2. %

o [MnO4]"< [FeOs]< [CrO4]>

[CrO4]*< [FeOs])*< [MnO4]*
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The number of microstates present in °F term 1s

Options :
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The numbers of P-S and P-P bonds in the compound P4S;3 are respectively
Options :

1« 6 and 3

) % 4 and 3
3 % 3and6
6 and 2
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Character table for the point group C2v 1s given below:

Cw |E |G | oWXZ) | ou(YZ)

A |1 |1 | 1 Z X oy 7
A |1 |1 [ i Ry XX

Bt |1 [-1 |1 2l X.BRy |XZ

B, |1 [-1 [-1 1 Y.Ry |YZ

The reducible representation corresponding to the three translational degrees of freedom, 14
Options :

3111

1. %
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The correct match of the circled protons in Column P with 1H NMR chemical shift (0 ppm)
mn Column Q 15

Column-P Columm-Q)

=
M ‘ () (A)6.72

Br
O
(H)
(11 ‘
O B 164
(IIT)
C -0.61
Options:
1% I-A : II-B: III-C
> I-B: II-A; ITI-C

3 % I-B: II-C; III-A

4 % I-C: II-B; III-A
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Helmholtz model represents model

Options :

diffused layer

fixed layer

2. .

half diffused and half fixed layer
3. %
4 Electrophoresis
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For the molecule CBry. the number of peaks which comprise the cluster for the molecular 1on
will be one of the following:

Options:

1 % 1:1:3:1:1



g 1:3:4:3:1
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In the mass spectrum of the molecule phenol. C¢H50H. the approximate mtensity of the peak
at m/z 95, relative to the molecular ion at 94 will be one of the following:

Options :

Q4%

1. #

2 % 6 . 6 I:"z'l:l

10.0%

7.0%
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For a substance which absorbs light (in the visible region) with wavelength A = 550 nm.
the corresponding energy absorbed by 1 mole of material corresponds to one of the following:



Options :

90 kJ

, % 2007

3 196 kJ

315kJ
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Identify the correct statements from the following:
(1) H>O belongs to Abelian group.
(11) NH3 belongs to non- Abelian group
(11) The point group of BF3 1s C3h
Options :

| (1) and (11) only

1) and (ii1) only
. (1) and (111) only

(11) and (111) only
3. %



(1). (11) and (111)
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Which of the following molecule has S4 symmetry elements?

Options:
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What 1s the order (h) of C3v point group?

Options:
f,
1.% 7
4
2. %
3.¢¥ ;
4. % 8

Question Number : 149 Question Id : 27028218626 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

How many symmetry elements are present in the molecule, CHCIFBr?

Options :
1.% 4
2. % .
"
3. % ©
1
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The symmetry elements present in Cav point group are:
Options :

E and C2 only

E.C2 and 20v only

E.C2 and o gv only

E.Cy 20v and 1



